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QUESTION 1

Which two options are primary functions of Cisco ISE? (Choose two.) 

A. providing VPN access for any type of device 

B. providing information about every device that touches the network 

C. enabling WAN deployment over any type of connection 

D. automatically enabling, disabling, or reducing allocated power to certain devices 

E. enforcing endpoint compliance with network security policies 

F. allocating resources 

Correct Answer: BE 

 

QUESTION 2

What statement is true regarding the current time in Enterprise Networking history? 

A. advent of cloud computing 

B. pace of change 

C. pervasive use of mobile devices 

D. advent of IoT 

Correct Answer: B 

 

QUESTION 3

Which two activities should occur during an SE\\'s discovery process? (Choose two.) 

A. Establishing credibility with the customer 

B. Working with the customer to develop a reference architecture 

C. Referencing the PPDIOO model to effectively facilitate the discussion 

D. Gathering information about the current state of the customer\\'s network environment 

E. Mapping Cisco innovation to customer\\'s needs 

Correct Answer: AD 

 

QUESTION 4
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Which three options focus of the current digital business era? (Choose three.) 

A. IoT scale 

B. connectivity 

C. virtualized services 

D. automation 

E. centralized enterprise and web applications 

F. Human scale 

Correct Answer: ACD 

 

QUESTION 5

Which feature is supported on the Cisco vEdge platform? 

A. single sign-on 

B. IPv6 transport (WAN) 

C. 2-factor authentication 

D. license enforcement 

E. reporting 

F. non-Ethernet interfaces 

Correct Answer: B 
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